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1. One hundred policyholders file claims with Cathay Life Insurance. Ten of these
claims are fraudulent. Claims manager Mr. Lee randomly selects four of the ten
claims for thorough investigation. [If X represents the number of fraudulent
claims in M. Lee’s sample, X has a .

A. normal distribution

B. hypergeometric distribution, but may be approximated by a binormnial

C. binomial distribution, but may be approximaled by a normal

D

binornial distribution, but may be approximated by a Poisson

!.\)

If arrivals at a bank follow a Poissan distribution, then the time between arrivals
woilld be

A. normally distributed

B. exponentially distributed

C. a binomial distribution

D. equal to lambda

N R THEER ARG/ - FEID)

1. Suppose there are 18 large shopping malls in Taiwan and that 12 are located in
Taipei area. If three shopping malls are selected randomly from the entire list,
what is the probability that ope or more of the selected shopping malls are located

in Taipei area ?

9 A convenient store has an average random arrival rate of 3.2 customer e very 4
minutes. What is the probability of getting exactly 10 customer during an 8 minute

interval?

3. Solve the following binomial distribution problem by using the normal

distribution.
PX <27 | n=100 and p=0.37)
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